B ractice

1 (40 pts.) Evaluate the following limits.

a) lim, ,g(cosz — (z + 2)%)
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2 (20 pts.) Find asymptotes (horizontal and vertical) for the function
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3 (20 pts.)
For the following functions y = f(z), determine if it is invertible. If not, explain the reason,

if yes, find the inverse function y = f7*(z).

a) f(z) = o=
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4 (20 pts.) Determine (the equation of) the tangent line to the curve y = @/, that parallel

to the line 2y = 3z + 10. At which point does this tangent line touch the curve? Write out

the equation of the normal line through this point.
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